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20143 & =S0ll4h LBHSIH nES#HF
A REWEDY
A Hsus g4 XA
S Hsns #4dst (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
nSHF 13,585,059 16,837,446 AN 3,252,387
= 132,000
& 236,000
< 60,000
Al 13,157,059
=swns 4 XN& 11,909,987 15,234,325 A 3,324,338
= 132,000
& 236,000
< 60,000
Al 11,481,987
sSus 243 10,426,288 11,990, 842 A 1,564,554
= 132,000
< 60,000
Al 10,234,288
MEEsIt HEXIA 2,500,000 2,900,000 A 400,000
307 gl2tol & 2,500,000 2,900,000 A 400,000
09 2HAHAEXS 2,500,000 2,900,000 A 400,000
OAMUHA THEX(REIHE 0, 85)
2,500,000,000& 14 2,500,000
HASSAY MEX 700,000 300,000 400,000
307 21201 A 700,000 300,000 400,000
09 2+=HAHEBXS 700,000 300,000 400,000
OHARSAME MBI 700,000,000 =14 700,000
MNHEXSI RIIEXS X&E 6,300,000 5,310,432 989,568
307 gl2tol & 6,300,000 5,310,432 989, 568
09 2HAHAEXES 6,300,000 5,310,432 989,568
OMYEXSA RIEE2 N (HA SAlLS
2) 6,300,000,000& 14! 6,300,000
HIed 24243 X3 135,000 135,000 0
307 21201 A 135,000 135,000 0
09 2HAHAEXS 135,000 135,000 0
OY¥Ild A28z 135,000, 000& * 14 135,000
SHE EAIALSE XI& 270,000 413,682 A 143,682
307 gl2tol & 270,000 213,682 56,318
02 RIZHENEXS 270,000 213,682 56,318
OBHME(IEZ NIl XA 28 XNA(S
Mg 8) 270,000,000& 14 270,000
ZOofel SEAl AtY XA 187,288 190,328 A 3,040
201 Let249] 6,480 9,520 A 3,040
02 =24l 6,480 9,520 A 3,040
O1 3322 ¥ HA 6,480




2A NS
A Hsus g4 XA
S Hsns #4dst (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DASIM(SE) 70,0003 +7CH*12 490
DASK BEH= (58 800,000& +7CH »12 5,600
DASK BFME 23 (58)
30,0003 *3CH *23] 180
DAUASX ZA =22 30,0002 +7CH*13] 210
307 21201 A 180,808 180,808 0
05 RIZt2IEt = 180,808 180,808 0
OXOCISEHA AlY g
180,808,000 » 14 180,808
thsns H= 70,000 50,000 20,000
207 RO 70,000 50,000 20,000
01 A3 39| 70,000 50,000 20,000
OAlUtHA 285301 24 E9
20,000,000& » 14! 20,000
OAUHA 6 E 84 50,000,000& =14 50,000
BAISSHE ¥ FHMEHNA 24,000 0 24,000
= 12,000
Al 12,000
207 RO 24,000 0 24,000
= 12,000
Al 12,000
01 A3l 24,000 0 24,000
OHANSSH AEHEA AR E A
24.,000,000& » 14! 24,000
= 12,000
Al 12,000
DALt EgnExt &g 240,000 80,000 160,000
= 120,000
< 60,000
Al 60,000
405 Xt&tE SHI 240,000 80,000 160,000
= 120,000
< 60,000
Al 60,000
01 AL EFH S 240,000 80,000 160,000
OXMHUSEA EFXE 2
40,000, 000 *6CH 240,000
= 120,000
< 60,000
Al 60,000
nE AL &= 1,481,699 3,237,483 A 1,755,784
= 236,000
Al 1,245,699
Ogoletddaggeloet = 193,383 193,383 0
= 96,000




SA: DEHTY
AW (ZRE 84
S DS AFAM HE CER-ED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
Al 97,383
401 AIEHI L 2CHYI 193,383 193,383 0
& 96,000
Al 97,383
01 A€ HI 192,000 192,000 0
oogolE2s < CCTV & Xl
192,000,000& * 14 192,000
& 96,000
Al 96,000
03 Al& 2 CHHI 1,383 1,383 0
OA&E2bI 192,000,000& x0.72/100 1,383
A& A 1,006,300 1,006,300 0
401 AIEHI L 20HYI 1,006,300 1,006,300 0
01 A& HI 1,000,000 1,000,000 0
O Xt & A4 (L=150Km) 1,000,000, 000& 14! 1,000,000
03 Al S THHI 6,300 6,300 0
OA&=0Hbl 1,000,000, 000& *0.63/100 6,300
SELXZ2 282,016 0 282,016
= 140,000
Al 142,016
401 AIE Bl S CHYI 282,016 0 282,016
= 140,000
Al 142,016
01 A€ HI 280,000 0 280,000
OsMduxz &x 280,000,000& =14 280,000
& 140,000
Al 140,000
03 Al2 2 THHI 2,016 0 2,016
OAI&Z &2l 280,000, 000& *0.72/100 2,016
WESOHE oA (LBHE H) 2,000 6,000 A4,000
WESHEALLD Ol & 2,000 6,000 A 4,000
307 21201 A 2,000 6,000 A 4,000
03 At HHEXS 2,000 6,000 A4,000
ORI DNEAHES 2SYX &
2,000,000 1Al 2,000
gE=SHA 2 40,000 0 40,000
dFE3E 249XE 40,000 0 40,000
B3 4248 XA 40,000 0 40,000
307 21201 & 40,000 0 40,000
09 2+=HAHEXS 40,000 0 40,000
O3=38 =243 40,000,000 * 14! 40,000




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HWEees(nsSs#H &) 1,535,275 1,535,275
WEHHXZ 1,151,275 1,151,275
WEHHXS(RSHEE L) 1,151,275 1,151,275
701 JIEISI AN E 3 1,151,275 1,151,275
01 JIEtel HE &= 1,151,275 1,151,275
OusAg SE3H 8=3 1,151,275
D TH &M DA S el & 4=2H 2] 10%
1,151,275,000& 14 1,151,275
E8XE 384,000 384,000
Kl 2 XH &F & 384,000 384,000
311 X+ S0l At &f & 384,000 384,000
01 Al 2 - BXHHLIISIL S0 K&t &t 384,000 384,000
OLSHEHEH X INHSSAEA HE 0l Atd
s 3,600,000,000! *4/100 144,000
Ous=2gHMA 8&s LEZAIMY OIXtaE
6,000,000,000& *4/100 240,000
HE2IAZH (nSEHAD) 99,797 99,797
el 2l 99,797 99,797
A (RS A ) 99,797 99,797
101 @124l 99,797 99,797
01 2=+ 97,170 97,170
OAZt 284 8,754 3721 %300l 2+ 97,170
02 JIEtE B == 2,627 2,627
OAt 2% 8,7543 x121x300A| 2t 2,627




